Page:1 of 2

FHOIRMILTRP PR P ERFAFETRRE LHEO 20224104148 (&)
RB—ER
FEABRSEANAEELRRR (VO FREOTL)
A £ A 14z 2 i 3 fir. 4fr 5 fif. 6 {ir 7 i 8 {ir
BT 14 [10/14 100m |[&K (1) 11.92 [#&10 FEEE (1) B (1 12.36 |4k HLRRE (1) 12,51 @k g (1) 12.74 [H0F KR (1) 12.80 |8 fEE (1) 12.94 /M s (1) 13.39
AR i el A HEHT i PN
BT 24 [10/14 100m [HFE KBS (2) 11. 38 |kl B @) ZE (2) L7 (A i (2) 11.97 [0 KFn (2) 11.99 [#8 B (2) 12.16 /ML filE (@) 1217 |EAf #it (2) 12.35
B P PN [ B HiE LSS
BrIG@EN0/1{ 200m [PFFE  HE (2 23.73 |fEA R0 (2) K (2 25.20 ([ Hepk (2) 25.74 |EfE Bk (2)  25.95 [/ Al (2) 26.25 (W& FBA (@) 26.25 [l A (1) 26. 55
S iz i VAT A L7 % N PN bl
BrI@|lo/1{ 400m [ @E (2 55.81 |®N TR (2) K (2) 58.48 [1ifHy  Fde (1) 58.80 [H I &E (2) 59. 56 | ikl ViR (2)1:00.30 (B e (2) 1:02.16 | 18K (2) 1:02. 85
ST AR L R 1] FEI iz) % [ Ak
BydaE(o/14  800m |MHKF  #EH (2) 2:15.55 [k KA (2) 2:17.74 PV A (2) 2:18.01 [BEK B (2) 2:18.76 Mk KW (2) 2:19.97 [KA BREE (2) 2:23.83 [BA sl (1) 2:26.05 |AEH ze3k (1) 2:27.10
[} EH H il i} TR BASTAN L P i
BF1EEN0/1{ 1500m [N % (1) 4:43.69 [@idi  JEEE (1) 4:45.35 [lin FOET (1) 4:48.10 [AK R (1) 4:51.29 LA WERS (1) 5:01.73 |[&Fl # (1) 5:02.55 [F1)1] (1) 5:04.49 | R (1) 5:05. 31
i A i VRS A L7 i} PN Ak %
BF2400/14 1500m |EH  FZ (2) 4:33.81 [FE Bk (2) 4:33.94 = KA (2) 4:33.94 =N K (2) 4:38.75 [#H KA (2) 4:49.64 4T f&B (2) 4:53.19 |k#\ FZ (2) 4:57.49 M (2 5:02. 13
[l) EXES fiic) TS [iz) NG KT e
B3 0/14 3000m  |[HAR fiffc (2)  9:56.21 [Pk il (2) 9:57.77 |FER RT(2) 10:04.27 [HE/ A KHE (2) 10:33.48 =) KAE (2) 10:42.23 [fEK &3 (1) 11:23.46 |FEH (1) 11:33.35
iz] i % ] =R fesizl PR (]
By lio/1y 11 0mH  |hE w2 16.20 [H)2 i (2) 16.51 [F A8 (2) 16.97 [#H — (2 17.14 % BT () 17.81 [ K4 = (2) 18.54 |1ER  JEARE (2) 18.90 =% JEk (2) 20. 43
(0. 914m) = I B KIR il [iz) EXE E iz]
B3 10/14 4X100m | 45.25 [FEH5 46.51 PR 46.92 |4 47.06 | KHHE 47.14 [3RVE 47.68 |B 47.88 |E 48.57
wER o ER (2) TREOEL (2 M AR (D R ORA (D) ‘I BA @ JUE T (2) BRSO OKH @ R B (2)
HFE R () A R (2) Y] @ A Ed (2) mA S EE (@ s BE (2 AN BEE (2) B A (2
BE AKX (@ e Z=ak (2) (I R=I 9 NC)] A% AR O e BE (2 =R Rm (2) PN = (2) AN L (2)
T M (2) B R (2 Ak % () Wl KR (2) Wk A (D TR R () PN e (2) AR fih_(2)
10/14 A w Bk i Em (2) 63 | FJF R (1) i EARRES (2) m50 [N #EA (2) g BEARRE (2) 50 [ : Fe)Il FF Im50 [ KEf (2 md5 [JITE &R (2) m35
[ JB3 1L iz] S V&S PPN i)
5313t (10/14 ek BEM Hikt (2) 3md0 (a4 BEA (1) 00 [#a8  1EE (1) om70 [WOH & (2) 2m20 AT S (2) 2m20
e i) e I RS
5313t [10/14 A Bk L ) 6mo1 [&)1] = (@ 5m77 |FREF ACHE (2) 5m65 [ KAk wek (1) 5ma3 [Fkilr A (1) 5m33 [ RE (1) 5m31 |fA K (2 5mi6 [~ —iD (2) 5ml4
e 0.0 |l 0.0 | Wil 0.0 | 0.0 |iif%h 0.0 | Ak 0.0 | MR 0.0 |/ 0.0
5313t [10/14 = Bek WA Bk (@) 1m97 (M &R (2 1in78 | KB B (2)  11m34 [T &R (D 10m60 |11 PRME (2 1o0m39 [MA 5 (1) m93 [fEx A BHA (2) om77 (MR WE (D 9m64
&t 0.0 | =@t 0.0 | B KR 0.0 |t 0.0 |tk 0.0 |FEHR 0.0 |#m 0.0 |Mi% 0.0
BF3kiE (10/14 L4 +hE o L (2) 8m94 [y fEFH (2) 8m25 (K ME (2) 8m19 Il AR (1) m81 [#1H F (2) Tm65 (FTH  HEARES (2) me2 | EA R (1) Tmd3 BB —# (1) m06
(5. 000kg)  |HrfH iF2E T L] HEED B Sk % HED
Bopdm 10/1]  URERE [ K fE (2) 1691 A ek (2) 1342 rge  mA (D 1055
wiE sl I
110nH-FALEE A EBE-400m |17, 43/ 0. 0-6m60-1m61-1:01. 77 19.73/ 0.0-8ml5-1m49-1:06. 64 20.32/ 0.0-5m84-1m37-1:07. 51

JLBI(NGR:RSHRLER/ KSQ « T AR )



Page:2 of 2

FHOIRMILTRP PR P ERFAFETRRE LHEO 20224104148 (&)
RB—ER
FEABRSEANAEELRRR (VO FREOTL)
A £+ fEH 1% 24 3fiL 447 5L 6 i 7L 8L
L AR (10/14 100m [&) EE (1) 13.56 [AH £k (1) 13.59 [*FH M (1) 13.66 |fA i (1) 13.76 | wiE () 13.92 [J\3k A%k (1) 14. 5AE (D 14.28 [FH fEAE (D) 14. 40
HE PN % Bl i) Rt Elvtinid g3
e 2 4F [10/14 100m |fHiE qE (2) 12.82 |fak]  E3E (2) 13.20 [#5J50 () 13.25 |hd B (2) 13.93 % H Hr (2) 13.99 [f&lr )5 (2) 14. iz (2) 14.14 [EH Fhe (2) 14.25
[ FEEE i) TR RS i) ]
-4 |10/11 200m [fivA ¥ (2 27.97 [ILN - HhZE (2) 28.06 |F=1A g (2)  29.14 [/ FiE& (2) 29.55 7k H FE (1) 20.83 [FH K (2 29. ke (2) 30. 35 | F[i Wi 1) 30.78
SR &l B SZ AR (L7 PoN{IE] peNid # il
k-3t 10/1Y  800m  [JHF B (2) 2:25.67 |HE A (2) 2:37.48 (Il MEEE (1) 2:41.40 [{FX Fifk (2) 2:43.27 [ K% Bk (2 2:43.94 [KE WA (1) 2:43. By (2) 2:44.53 [RII A&dE (1) 2:45.17
R i peNi PN H e %
ZF1HE0/14 1500m K BR (1) 5:28.19 |[HE Zob (1) 5:29.50 |=4F @8 (1) 5:30.22 |5 W (1) 5:30.26 |~ P (1) 5:41.16 [FH  #iF (1) 5:45. #WE (1) 5:53.43 [# |k FZE (1) 6:00. 45
i IR It 7 W NZAR (L 7P b %
LT-24410/1f 1500m [f@% ZExfE (2) 5:19.53 [ Lhk (2) 5:28.18 [E N #o(2) 5:3L.82 [WA W& (2) 5:32.78 [Hth fsk (2) 5:38.15 [N Ed (2) 5:41 ok (2) 5:52.16 B HE|Z (2) 5:52. 81
EHR kil Cinid BRANZAA L PE izl i3 F
7 [10/14 1 00mH [ 0727 (2) 15. 70 LD (2) 16.26 [JEE A (1) 16.61 [l wz () 16.92 |[AIE : A 3 16.92 [ =8 BH4L (2) 16. D (2) 17.50 [[HEA  HT (2) 17.56
(0. 762m) VL SZAS (L7 peNi S 3 Tk i3 il
L3 [10/14 4X100m |M&EH - 53. 64 54. 65 |5 KT 54.68 | &+ 54.83 |3 32 PRl 54.95 |[RNZANILTE 55. 55.12 |#& 55. 20
AN SIS ) Wz () am % (1) &1 7% Kpg HBEF (D) Ve B (D FARUE (D FHEOOELR (2
EH D (@ ¥ (2) AE KK D [T I i E At EE Q) W Otz (2) Rk (2) THE R (D
M fiE (2) K (2 DI Sz & SOV fam  wEE O ks Ot @) ey F4 Q) DfE (2) A BE (2
i 4t () e (1) A FEE (2) Ff FREEE (2) Bk tERT (2 et FiE (2) AN EE QO = BAL (@
P73 [10/14 A Bk i E Q) 1m49 -t (@) 1m46 |7} BT (2) 1m40 /AR i (2) Im30 [ : g5k ¥1 1m30 K& 3 (1) m25 (A aEF (1) 1m20 ([ : | A% (1) 1m20 [FINET = 1B Ll (1) 1m20
P1i) R A 511 i} Hh kS| v R KSQ
- 353 [10/14 Fem bk SdE B () 3m00 =) (2) 2m91 | F L FAL (1) 2m80 [{A[ % A1 (1) 2m50
R NGR| FeJit NGR | 37 NGR | % K@
33 [10/14 AR Bk A HERE (D 4m80 [kH I (D 4m62 [JEE R (D Am37 [ i (2) 1m36 [\ OF (2) 4m24 |Hr W (1) iml6 | KAE FLHE (1) aml4 |Feld i (2) 4ml13
Exdi) 0.0 [/~ 0.0 |Z KR 0.0 [R5 0.0 |FE%— 0.0 |FJi 0.0 |#53 Rk 0.0 |WSrAd g 0.0
143 {10/14 A% L 0E (2) m96 B X (1) m94 | /1 £ (2) m90 | F AR wE&E (D m56 | & [if] "2 (D m00 | -/ Tk (D 6m96 |/ A (@) 6m64 | xH D 6m38
(2. 721kg) P il i) i TSR i) EoNIE] g
fr At 10/ DURRBRE: [ D (2) 1522 [k FUHR (2) 1491 (B ERF (2) 457
A sl W1l
100mH- 7 BE-F AL EE-200m [18.17/ 0. 0-1m21-7m07-31. 38/ 0.0 17.98/ 0.0-1m24-5m46-31. 02/ 0.0 24.60/ 0. 0-NM-6m21-36. 28/ 0.0

JLBI(NGR:RSHRLER/ KSQ « T AR )



